M) .

Let * denote smoker functions )
. o efbdr _ <[2p,,0r 2
P PR g =(p.)
The median future lifetime of a non-smoker is ss.t.

P = %= Ly, = 16334.93 s = 76.86 - 50 = 26.86

The median future lifetime of a smoker is r a.t.

ePio =% (,pe)’ =% = ,py = (1)} =0.707107

= r= mo.wm

= §-r=6.30years
For full marks, it is :nnmmmn.Q to describe the payments completely, including the
amount of the annuity payments, when the first payment is made, what happens
if the policyholder does not die during the term, ete, :
This benefit has no value if the life survives n years,

If the life dies within n years athe receives an annuity of 1 p.a. at the end the
year of death and of each subsequent year up to the end of the nth year.
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